RZR XP900 Winch Mount
Fits: 2011 XP900
P/N: 11082
Accepts up to a 4000 Ib. Winch

Includes:

1. (1) Winch Plate

2. (1) 6-5/8” Wide Fairlead Bracket
3. (1) 4-7/8” Wide Fairlead Bracket
4. (5)5/16 x 1” Flange Bolts

5. (5) 5/16 Flat Washers

6. (5)5/16 Nylon Nut

7. (1) Logo Sticker

Installation:

We do have an installation video on our web-

site.

1. Place the plate behind your radiator as
shown. The rear (3) bolts will go through
the plate and into the holes in the frame.
Put the nuts and washers on the bottom.

2. The front bolt will go down through the
plate and into the frame. Do not put the
nuts on yet.

3. Bolt your fairlead to the correct supplied
bracket depending on your model of winch.

4. The fairlead bracket will go under the front
of the winch bracket (see picture). Once
you have it in place bolt it on with the
5/16” bolts, washers and nuts.

5. Install your winch with the bolts that came
with your winch.

WWW.EXTREMEMETALPRODUCTS.COM
OFF-ROAD ACCESSORIES
Cleveland, Ohio




